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Instructions :

(i) All questions are compulsory.

(i1) Question Nos. 1 to 5 are objective type questions.

(iii) Internal options are given in Question Numbers 6 to 26.

(iv) Draw neat and clean labelled diagram whenever required.
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«"  Choose the correct option and write it :

(1)  The system of equation ax+by+c =0 and azx4-b2y+cz =0 has a unique
solution if — '

a| ) C
@ b . a b o
a " ,

© Ah_a (d) None of these
a b o |

(ii) | Maximum number of zeroes in polynomial 2x3+3x2+4x+5 will be —
(@) .3 | (b) 4
© 2 | @ 5

(iii) For the Aﬁthme}ic Progression 12, 7, 2, “3yrinn tﬁe common difference is —
@ 5 C®) -5

| —Y
© 12 @ 7 - =

(iv) The discriminant of the quadratic equation ax2.+bx+c=0 is zero,

then a quadratic equation has

(a) two- distinct real roots.
(b) two equal real roots.

(c)- no real roots.

.(d) None of these.

- (v) How many ﬁuimum tangents can a circle ha';fe ?
(a) | bne (b) . Two
(¢) Zero | ' - (d) Infinitely many -
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41 in the blanks

(i) The sum of two polynomjal is :
(i) " Probabilily of an event L-¢ Probability of the cvent 'not E' =
(iii) Any quadratic cquation @@ have almost roots.

(iv) The relationship betweeh_the three measures of central lendency IS
3 Median = .+ 2 Mean
(v) All squares are

(s/ﬁq&ii’tqaﬁwfmﬁfrﬁm= 1x5=5
(i) 5 @ it wen L |
(i) =g fig & feel g9 O8I o <M1 wst YEnel @ warat T A ¥
(iii) 2, 4, 8, 16,..... T& THaT 9 ¥
(iv) Ya% B oifw ¥ Yo IR T g F Rz @ P
\ PR T T % R et e gfte
0 Rg P(xy) @ i 3 70 21,7 @
‘_/V(rite True/False in the following :

0] JE is irrational numbet,

(11) The length of the two ta@gents from an external point to a circle are equal..
(iii) 2, 4,8, 16,...... is an Afithmetic Progression.
(iv)

T_i‘_ie line drawn from the eye of an observer to the point in the object
viewed by the observer is called the line of sight.

(v)  The distance of a point P (. %) from the origin is +fy2 +y?%.
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()  sinQ° (a) sec” @
G)  tan60° (b) 1
|
(111) sin28+coszﬂ (c) D)
(iv) cos60° (d)y 0
() 1+tane (¢) ‘E
1
(f) N
Match the cormrect column :
Column 'A’ Collimn 'R’
G sin0° (a) sec’@ )
(1)  tang0° (b 1
(iii) sin?0+cos 0 (©) %
(v) cos60° @ o0
™) 1+tan?@ © 3
1
(H N

, -
5 /9% & U 9= | 9 ¥ 390 Raw

i) T r 9@ g9 & dvww @ gy faka

(i) afe x+y=35 g x=1 8 @ y & 9= T g
(i) e & omEaT & g fakaw)

(iv) mm%mwmww

(v) 99 % Pruass & uftvymer faflag).

Write the answer in one word/sentence of eqch

(i) Write the area of a circle whose radiws is -

() If x+y=>5 and x=1, then find the value of y.

(1)) Write the formula of volume of a sphere.

(iv) “Write the formula of Mode for grouped data.

(v) Write the definition of a sector of the circle.
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/EXpress number 140 as a product of its prime fa
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. toati ethod.
Find the LCM. of 8, 9 and 25 using the prime factorisation fi
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3dr 2k
Find a quadratic polynomial, the sum and product of whose zeroes are —3 and 2
respectively.
Jya /| OR

R g p(x) & fg y=p(x) &1 7% 99 ol F REm ¥ p(x) &
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The graphs of y=p(x) are given in figure below for some polynomials p(x).

Find the number of zeroes of p(x).
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,&/f Find the distance between the points (2, 3) and (4, 1).
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ARG A(x,p) o B(xp.y,) B WX TR Y@@E ABFH min B
ST ¥ ot w9 Y Prvha @@ @ R p(xy) ¥ Prige e

Write the coordinates of the point p(x, y) which divides the line segment

AB joining the points A(x), ) and B(x3,y;), intemally in the ratio m : 7.
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A child has a die whose six faces show the letters as given below :

ADA

Y

This die is thrown once. Find the probability of getting A.
yyar [ OR

ﬁwmaﬂrhm%ﬁﬂmqmﬁﬂ@ﬁ%:mmﬂaﬁhﬁﬁm
0,62 &1 apm & A T B R S SR

Two players Sangeeta and Reshma play a tennis match. The probability of Sangeeta
winning the match is 0.62. Find the probability of Reshma winning the match.
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shuffled deck of 52 cards. Calculate the probability

One card is drawn from a well-
that the card will be an ace.
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A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at

random from the box, find the probability that the marble will be white.

)J/'mm‘da%ﬁq:

sin 60°cos 3_0“ +sin30°cos60°
Evaluaté :
sin 60°00530°+siﬂ30°cos 60°

Jyar /| OR

| 4 . | '
gy tanA=§, @ sind @R co§A T B

_ s -
If tan 4 =-§-, then calculate SInA4 and cosA.
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Find the ratio in which the line sepment joining the points A (- 3- 10) and
B (6, —8) d_ivided by point (-1, 6).

: dya /| OR
a0 (0, 1) Rigslt P (5, -3) ot R'(x, 6) ¥ o &, A x FATTC !

If O (9, 1) is equidistant from P (5, -3) and R (x, 6). Find the values of x.

/mm%w%ﬁwwmﬁwﬁw&aﬁﬁmﬁm
B ¥
Prove that the length of tangents ‘drawn from an external point 10 2 circle

are equal.

~ y@ | OR
@ﬁﬁQﬁqﬁﬁwmi%@rﬂm~z4aﬂramﬁi§ 9,
25 ¥ %1 g @ Pew WA AR
From a point O, the length of thectangent to a circle is 24 ¢

of O from the centre is 25 cm. Pind the radius of the circle.

HFIAQ

m and the distance

wmw@qﬁmmmmm,mmw%. 3
(m=3.14 )
Find the area of the sector of 2 circle with radius 6 cm and angle is 60°.
(Taking 1=3.14)
. g | OR
aqﬁﬁﬁmﬁmwz g i i o %1 ow gu @ B s A R
mﬁﬁqﬁ%mﬁfﬂﬂ%m%l |
The radii of two circles are 8 cm and 6 cm respectively. Find the radius of

the circle having area equal to the sum of the areas of the two circles.
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Prove that JS IS a irrational number.

s | OR

&3 foaraw ofsar fed aad f5 Prefafaa ofcg densi & Somea wam
|| ¥ @ s\ amad £

136
M 3135 W T3

Without actually performing the long division. state whether the following rational

numbers will have a terminating decimal expansion or a non-terminating repeating
decimal expansion :

g3 6
Y 325 O 15

/lygmaang x2+7x+10%wm£rﬁrqé?nqaa§f'wguﬁﬁ%é’m% 4

w4 B T B A B

Find the zeroes of the quadratic polynomial y2 + 7x+10 and verify the relationship
between the zeroes and the coefficients. )
Sar /| OR

a@ax2+3%sﬁmmﬁﬁqﬁa@ﬁaﬁt§vﬁﬁ%%ﬁa%ﬁaaﬁ

~
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Find the zeroes of the polynomial xZ -3 and verify the relationship between
the zeroes and the coefficients.
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Solve th . ,
e followmg pair of linear equation by the elimination method :

3.1‘.+4y=]0
2.1:“2.];:2.
| q9qar /| OR
Wﬁrmmﬁwmmgﬁaﬁﬁﬂﬁﬁﬂi
x+y=14
x—-y=4

Solve the following pair of linear equation by the substitution method :

x+y=14

x—y=4
8 T 2 _3,10=0 % 7w ¥ | 4
Wﬁﬁ:ﬁﬁﬂﬁﬂﬁﬂx x _qgrr BTy |

Find the roots of the quadfatic equation x> =3x-10=0 by factorization method.

7~

s | OR
Brere T 2% —dx+3=0 @1 Rt T BRI ol 5w g B i
a@ A |

Find the discriminant of the quadratic equation 2x? ~4x+3=0 and hence |

“find the nature of its roots.
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o-angle of clevation of the top of a tower ftom o polnt on 11§ ground, whiel,
<

is 30 meters away from the foot of (he tower, is 30% Tind the height of (e

tower,
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A Kite is flying at a height of 60 meters above the ground. The string attached

'to the kite is temporarily tied to a point on the ground, The~lnclination angle

of the string with the ground is 60° Find the length of the string, assuming
that there is no slack in the string, -

\J/(qa@étﬁfﬁﬂaﬂwwmﬁaﬁg%ﬁsmﬁammﬁﬂnﬁ
. 25 W T W ¥ qw gew wwd R oqf ¥ 6 W B S w T
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/ adder is placed against a wall such that its foot is at a distance of

2.5 meters from the wall and its tdp reaches a window 6 ruaters above the
ground. Find the length of the ladder. .
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State Thales theorem and Pythagoras theorem.
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Find the area of the shaded region in given figure if radii of the two concentric
circles with centré @ are 7 cm and 14 cm respectively and £40C =40°.
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How many two digit numbers are divisiblo by 3 ? F find,

NG OR

j{#‘AP 3t v v R, R leit g 38 & of 1681w 73

Find the 31% term of an A, whose 11W ferm is 38 and the 16 term is 73.

37 firg A ¢

V//" 1 +sin 4

1-sin4

=sccA+tan 4

Prove that :

1+sin 4
1—.sinA

=sec A +tan A
s | OR
(smA+cosecA) (cusA+secA) =7 +tan® 4 +cot? 4

Prove that :

(sind+ cos.ec)i)2 +(cos A +sec A)2 =7 +tan® A+ cot? 4
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~ Draw a line segment of length 7.6 cm and divide it in the ratio 5: 8.
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Draw a circle of radius 3 cm. From a point 5 cm away from its centre
construct the pair of tangents to the circle,
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Phereg ey ' '
_ form < of radii 6 ¢y, 8 em and 10 cm respectively, “r‘-"--mc"{:d ©
E Single sl o
'F olid sphere. Find the radius of the resulting spherc.
auar /[ OR
o 4.0 I Je
N AN g w e @ R B 6 A O
: | o
E R IC I I JIE— Fat | |
i A metallj '
etallic: sphere of radius 4.2 cm is melted and recast info the shape of
a cvli : '
ylinder of radius 6 cm. Find the height of the cylinder.
-meﬁaﬁwﬁ%ﬁﬂﬁﬁﬁmﬁ(ﬁmﬁ@:”ﬁ%: >

\.%f :
L . . . . .
S (e 4) | 020 | 2040 | 40-60 | -60-80 | 80-100 100120

s2 | 6l 38 29

TR ' 10 35

Wﬁﬁwmﬁﬁﬁml.

The following data give the information on the observed life times (in hours)

of electrical components :

Life time (in hours) 0-20 | 20-40 | 40-60 60-80 | 80-100 -| 100-120
R :

Freqﬁency 10 e 61, 38 29

) ife times of the components.

Detennine the mode |
syan /| OR
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100-150

150-200

200-250

250-300

300-350

gfErl # gE
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The table below shows the daily expenditure on food of 25 households in a locality :

Daily expenditure 100-150 | 150-200 | 200-250 | 250-300 [ 300-350
(in Rs.)
Number of hduseholds 4 5 12 2 2

Find the mean daily expenditure on food.
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